EARAROBEEIERT — 2 N— IBISH —F

20165F2H4H (K) 25EIEH3H

m JIFv RC3 ¥7%4m L ‘ KMzl w8 ‘ [BERE] — | 4 (B 14000 B
[AE4£] 1 7% :200,000 ™ ~ 237%&:40,000”  33%&:20,000H” . 43%&:12,000 " 53 :8,000 8
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
g = 4 5 | EREAIE 1:32.7 2-2-2-1 |41.1| — 1 472 | HTEERE (EM)
] 3 Kl 54.0 ) b | BERA
RN YZwT T4 L BYICRTAZT 1 ke
2 55 4 5 | KEARS 1:33.1 5-5-1-2 |40.9| — | 4 | 475 |RAIRF (EH)
2 g|IRE=TS>T) 56.0 @ 1/2) (1) | FHEE
RH— BT TY L— B 245
S t 5 | NEEF 1:33.9 7-6-4-4 | 41.4| — 3 505 | BtETIER (EH)
3PN 4 | TAVFhHYT g 56.0 (5) (3) | F—AFNZ S
RN=VIFL BIIAILLLYTF e
S, s 4t 4 | BAAER 1:34.1 8-8-6-6 |41.0| — 8 488 | AEE= (EH)
4|55 | YTV~ 54.0 (3/4) (-3) | FEBFS
R:hzxexy B:7UYCEO- HpRX 4y K
W 3 e j o4 | TRE 1:34.1 4-4-2-3 | 42.1| — 2 | 457 |EAE— (FH)
517|7|LYIVLVE 54.0 (NF) () |EHER
LixAagHLyy BLYIT—ANTZ B Bz
= i 6 | AL 1:34.4 6-7-8-7 | 41.6| — 6 482 | EEHER (ER)
611 IVTTHI3 54.0 (1" 3/4) 3) HENE
R:2TE@EARLE— BEUYNTUSEZR E/FT7— L
= = B4 | ZEEX 1:34.9 3-3-5-5 |42.9| — 5 453 | EREELE (EE)
7 6| TF/ 71477 .0 3) -1) EHI';—
LTSI BTATATAT J—RH-F
i o4 | AUEE 1:37.5 1-1-7-8 | 45.8| — 7 47 | EREY (Hh)
8 o | A¥A )N I—-d— 56.0 (21 4) -7 YAHEi
R:RYUSTyk BiI-Y by eSS
® I —F—@EBIERL
i3=3r= 2,3,6,7,8,1,4,5
Aol=5r= 2,3,6,7,8,4,1,5
33—7+— [8,(3,7),4,6,5,2,1
41—+ — 3,8,7,4,6,5,1,2
[ RN
B OB 3 200/ 714K 3-8 210M B E 3-8 1,360M &R 3-4-8 700M
8 B 3 100M 3-4 130M B H 3-8 1,360 JEH 3-8-4 4,640M
8 180M 4-8 370M
4 1009

ABICOVWTRDTEEERROODE. TR LIV,




